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d"b|f Joj:yfkg ljefu

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 5,145,508,569         1= ljb]zL d"b|f / ;]So"l/^L 356,860,000,000           

2= rng rNtLdf /x]sf] gf]^ 351,714,491,431    

hDdf lgisflzt gf]^ 356,860,000,000         

hDdf bfloTj 356,860,000,000          hDdf ;DklQ 356,860,000,000          

OSjL^L tyf bfloTj ?= ;DklQ ?=

1 d"nwg 3,000,000,000             1  gf]^ 5,145,508,569              
2 ;fwf/)f hu]*f sf]if 21,668,832,750             2  /]RsL -                             
3 df}lb|s bfloTj sf]if 3,489,959,379              3  ljb]zL d"b|f 17,764,128,166              
4 ljsf; sf]ifx? 13,794,245,025             4  ljb]zL a}+s df}Hbft 158,887,988,021           
5 #=;f=p= ljsf; sf]if -                            5  P;=*L=cf/= ;+lrtL 3,500,445,071              
6 ;^xL ;lds/)f sf]if 64,644,789,078            6  ljb]zL a)* 126,616,998,751             
7 ;"grf¤bL ;lds/)f sf]if 4,480,191,137              7  vl/b / l*:sfp)^ u/]sf] ljn

8 ;]So"l/^L k"g/d"Nof+sg sf]if (103,550)                         -s_ :jb]zL 60,279,841                   
9 lgIf]k      -v_ ljb]zL 30,801                        
   -s_ g]kfn ;/sf/ 76,214,167,705              8  nufgL

   -v_ afl)fHo a}°x? 98,303,218,094               s= ljb]zL ;]So"l/^L 216,199,661,493             
   -u_ ljz]if lgIf]k 141,150,000,000              v= g]kfn ;/sf/sf] ;]So"l/^L 21,222,285,517              
   -#_ cGo 82,840,650,197               u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,423,761,888               
10 e"QmfgL lbg"kg]{ lan 659,387,809                    #= l/kf] ljb]zL -                             

     ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000                  
11 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 5,000,000,000             9  shf{ / ;fk^

12 P;=*L=cf/= af¤*kmf¤* 10,074,314,178                s= g]kfn ;/sf/nfO{ -                             
13 cGo bfloTj 57,276,992,457                v= jfl)fHo a}+sx?nfO{ 1,476,830,219               

     u= ljQLo ;+:yfx?nfO{ 50,900,000                  
     #= :yfoL t/ntf ;"lawf -                             
     ª= cGo shf{ / ;fk^ 4,495,985,040             
  10 ;"g df}Hbft 1,611,927,567                
  11= cGo ;DklQ 23,108,913,314              

hDdf OSjL^L tyf bfloTj 582,596,644,258          hDdf ;DklQ 582,596,644,258          
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